%@ﬁik#ﬂ&#%l@?%#&%wﬁﬁﬁ;

¢ 10,

D

SEE T
- S P | 4= o | # =
M AN s HEH am | L7232, 4| 5H
% @ % | E | > #
= EER(EE4 Y £40H)
(DL THFHALBE AL LW =B EH R ?
' : 2 2 - 1
(A)\/_ 24 B\ 3 © NED (D) \/T
(D2 #EFBARI 192 29 ARBRAS P FF ST
WV ®s Oz iz
( )3, TR EE 4T EaE 7
(A 2’\/ 3 + 3\/ 3 = 5\/ b (B) 2\/ 3 x&H 3. = 6\}
(C) 9\[ 3 + R 3 = N 3 ) 4\/ 6 x 24 3 = 24\ 2
C 04 HARLEXEERX M - B FIERTE2 Bk ?
, (D5 (x=3)tx (3—x) = ( x— 30 (5+x ) (B) 5x'+16x = 5x ( x+3 )
(C)aCa—b)+ab(a~b) =a(a-b)+b D) 2&+5x8+x = x ( 9x* 15z )
(5. A x'—b6x+9=(x+b)*> Al b a4 & 47T ?
(A3 B =3 O3 @ —3
{ )8, # 3x -I-IHX 12 2 x—1 a9 &) 3x"+mx—12 %’.m:’F?‘H’I:‘&H’]’f R 7
C W X3 (B x4 (© 2x+3 (D) 2x—3
C T (x+2)'—( 2X—5) FFHHF—EAX ?
(A x—1 B x+1 ) —x—3 D) x+7
{ 8. TR X pde A Eak ?
(A) X+4x+16 = ( x+4)°* (B) x*—16 = ((x—4 )¢
B ©4 = +DH( x—4) (D) 3x*+18x+27 = 3( x+3 )2
(- 9. wHE > ABCD BRI HLEFHBTRAENEF —ﬁ‘-tﬂs»‘rﬁ‘ 2% % am~bmn -~ cm -~ an >
bn~cn o AIFHHM— BB PR FTURFTEFTN ABOD 0 @4 ? A
(A) abmn | (B) (a+b+c ) (mt+n) am | bm | cm
() Ca+b+m ) Cc+n ) D) (atb+n) (ctm) an | bn | o

Wl%ﬁ%&ﬁl?@% ﬁ%ﬁ%ﬁﬁﬁ%%lﬁ&% Tﬂﬁ%$?%%&@%ﬁ%

3B 3 7

W3 B 13 (©3 @10

~H BERH




=~ BERAMEHK A 240 5)

L (N3 2 ) estes 2 @ o

2. BAZABHAEENHE 560 £ : _
()4t = 7 (DAE R E—

3 B a T BRSEAR B50< a <100 8] a —

I HAARTF@REAA(—2, 5)-B(4,-3)~C(2,2) =2 g BC =

5. WA B AR AR AR R A BRGNS DT 12
| 5 A7 3

6. BX5M(x—1) (3x—T)—(1-x )= | - _T

7. BRHM 25 +28x +98 = ﬁg

8. BA At 165 —49y" =

9. #x =\ 3 +1 g X'—2x+1= °

o HEAGEIEIY > BAELY 0 2204 EXEIHFLY)
LOsEFRER:

)~ x<~\g>+V?:%c
(@) 88 =___ - |

D2 xn3+6/6=___ -

W (/2 =3+ (\/—2_1#3.)2:_%__"

2. BX2MTF 4K
(D GHDE+3 —E+1D)'&+3) =

2)xy —x —y + 1=

3. E—HAZAMMARAS A HZBRZ LA 415 AAGKAT?

4. BAE X2“3X‘“7 B x—4 é’]ﬂ%i‘(‘, v AfahZB XZ_SX"""T ﬁﬁrﬁl’;’%‘\i‘:ﬁ ‘:P?.’]U_t.’fﬂ‘ﬁi 2

~ RAER ~




